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Booklet A

Instructions to Pupils:

Do not open this booklet until you are told to do so.

Follow all instructions carefully.

Shade yéur.answers in the Optical Answer Sheet (OAS) provided.
You are not allowed to use a calculator.

o R e N

Answer all questions.

Section Maximum Mark Marks Obtained

Paper 1 (Booklet A) 20

* This booklet consists of 6 pages (including this cover page)



'stlons 11 to 15 carry 2 marks each.
For each questxon four optlons are gi yne of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shad  oval (1, 2, 3 or 4) on the Optical Answer Sheet.

AH d:agrams in this paper are not drawn to'scale unless stated otherwise.
. . {20 mafks)

. fQuestlons 1to 10 carry 1'mark eac

1. Which one of the following shows six million and fifty thousand?
(1) 6000050 "
(2) 6000500
(3) 6005000
(4) 6050000

2. Whatis the value of the digit 8 in 1 980 5247

(1) 80
(2) 800
(3) 8000

(4) 80000

3.  What s the missing value in 27 + [} = 0.277?

) .
@ 10

3) 100

4) 1000

4. Jananihas5 pens and 2 erasers in her pencil case. What is the ratio of the number
of pens to the number of erasers?

(1 2:5
2 5:2
(3) 2:7
@ 5:7 '

(Go on to the next page)



5. ABand CD are straight lines. Find £x.

A

(0
)
(3)
@

15°
17°
32°
148°

6. In the figure below, AC =BC. BCDis a straight line. Triangle ACD is an equilateral
triangle. Find £x.

Q)
@)
3)
@

A

20°
30°
60°
120°

(Go on to the next page)



7. Calcu!ate»the_ aréa‘of'the shaded triangle.

() Scm?
(20 7om?*
(3) 10cm?
4 15cm?
8. 2 litres of fruit juice was shared by 16 children. How many litres of fruit juice would
each child receive? '
1.
(3¢
. 1
@ ;¢
(3) 4¢
(4) 8t
S. The diagram below shows different shapes of rectangles, triangles and circles.

What percentage of all these shapes are triangle?

ANO

(1) 20%
@2 50%
(3) 40%
@) 60%

(Go on to the next page)



10.

11.

12.

Ahmad scored an average of 74 marks for two tests. He scored 70 marks in hls
- first test. How many marks did he score in his second test?-

1

@)
@)

)

. 66

72
74
78

Mrs Sim bought a 2.15 kg bag of sugar. At the end of 5 days, she used up all the
sugar. She used an equal amount of sugar each day. How much sugar did she

(2)
3
(4)

‘use each day? . .

(1)

0.4.3,kg
0.403 kg
4.03 kg
4.30 kg

: 1
John attended an 8-hour camp during the school holidays. > of the time was spent

3
on drama activities. He spent P h.on lunch. The rest of the time was spent on craft
activities. How much time was spent on craft activities?

(1)

@

@)

|
-

-
=

w
pop

» NN
AT Tl &=

=

(Go on to the next page)



13,

14.

15.

1
Mary packed some flour i m packets Each packet contained - kg of flour. Inthe end,
she had 6 packets and 70 g of flour left. How many grams of flour did she pack

(1) 1120g
(2) 1500¢
(3 15709
(4) 22009

| The humber of fifty-cent coins that Patricia has is twice the number of one-dollar coins.

The total value of all the coins is $120. How many fifty-cent coins does she have?

(1) 40
(2) 60
(3) 80
4 120

3 1
A cubical container of edge 10 cm was a filled with water. p of the water was poured
out. How much water remained in the container?

(1)  187.5 cm?
(2) 500 cm?
(3) 562.5cm?
(4) 750cm?

(Go to Booklet B)
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Booklet B

Instructions to Pupils:

-

Do not open this bookiet until you are told to do so.
Foliow all instructions carefully.

You are not allowed to use a caiculator.

Wirite your answers in the booklet.

Answer all questions.

S N R N

Section Maximum Mark Marks Obtained '_l
Paper 1 (Booklet B) 25

* This booklet consists of 8 pages {including this cover page).



QueStlons 16 to 20 carry 1 mark each. Write your answers in the spaces providéd.
For questlons which requue units, give your answers, in the units stated.

Do not write
All diagrams in this paper are not drawn' to scale unless stated otherwise. in this space
: (5 marks)
16. What is the value of Y?
| | | | | r l |
| j T T -1 i n l
4 V48 5.6

Ans:

17.  What is the remainder when 7102 is divided by 77

4
18. There were 8 pizzas. The children ate 5 of the pizzas. How many pizzas

were left? Express your answer as a mixed number in its simplest form.

Ans:

(Go on to the next page)



in this space

19. 'i'fiahgle ABC is an isosceles triangle. Find the value of £ BAC.
. s A S Do not write
Ans: °
20.

Name the height of triangle BCF.

Ans:

3 (Go on to the next page)



Questions 21 to 30. carry 2. marks each.. Show your workings ciearly in the space

provided for each questlon and write your answers in the spaces provided. Do not write

o For questlons which require units, give your answers in the units stated. in this space

21.

22,

AII dtagrams in this paper are not drawn to scale unless stated otherwise.
S (20 marks)

There were two packéts of flour on the table. Packet A had 300g more flour
than Packet B. 1.6 kg of flour was transferred from Packet B to Packet A. How
many-more kilograms of flour did packet A have than Packet B?

Ans: kg

Shamini and Mandy had some bookmarks. They bought 10 more bookmarks
each. After that, the' number of bookmarks that Shamini had to the number of
bookmarks Mandy had was 3 : 1. Mandy had 18 bookmarks in the end How
many bookmarks did Shamini have at first?

Ans:

(Go on to the next page)



N 23. The table be!ow shows the number of students in each class in a kmdergarten.

Class

B

C

Number of students

20

12

15

Tﬁe average number of pencils owned by each pupil is 2.
_ Find the total number of pencils owned by all the students in the kindergarten.

"Do not write
in this space

24. Mr Lim is 40 years old now. His son is 24 years younger than him. What will

be their combined age three years later?

(Go on'to the next page)



25, j’he fine AB is 8 cm long. Using the line AB given, construct triangle ABC such | po not write
- . that ZABC = 38°. The line AB is equal to the line BC. Label the triangle. in this space

26.  MrMenon bought a sofa set which cost $1200 before a GST of 7%. What was
the amount of GST that he had {o pay for the sofa set?

Ans: $

6 (Go on to the next page)



- 27.

28.

ABCD is a square. ABE is an isosceles triangle. ~EAB = 55° and
ZADE =17°. Find £ y. - . Do not write
Bh . ; A D in this space

- 17°

55°

Ans: °

W, X, Y.and Z are the mid-points of the sides of a square ABCD. The area
of the square is 64 cm? what is the area of the shaded triangle?

A

Ans: cm?

7 ‘ {Go on to the next page)



29. - The figure below is made up of 6 similar triangles.

‘ : ;Find the total area of the figure. Do not write

in this space

10 cm

Ans: - cm?2

30. Sarah folded a rectangular piece of paper, coloured on one side, to form
Triangle ABC and Triangle ADE. Find £x.

o - . " o - - A - - A

-y WS W o b o

E
Figure A

Ans; °

" End of Bookiet B
Have you checked your work?
8
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Instructions fo Pupils:

1. Do not openthis booklet until you are told to do so.
2. Follow all inétructions carefully.
3. Show your-workings clearly as marks are awarded for correct working.
4, Write your answers in this booklet.
5. You are allowed to use a calculator.
6. Answer all questions. |
Questions Maximum Mark Marks Obtained
Q1to5 10
Q6to 17 45
Section Maximum Mark Marks Obtained
Paper 1 45
Paper 2 55
Total 100

* This booklet consists of 15 pages (indiuding this cover‘ page)




Questions 1 to 5 carry 2 marks each. Show your working clearly in the space Do not write
provided for each question and write your answers in the spaces provided. For in this space
questlons which require units, give your ans_‘_ TS m the units stated. ,

All diagrams in this paper are not drawn 'to scale unless stated otherwise.
. (10 marks)

1. Draw the side view of the solid given below in'the-square grid.

Top View

}

N

< Side View

N

7

Front View

2 {Go on to the next page)



L 2 The table be!ow shows the charges for a taxi ride. Do not write

in thi
4 Fi irst Kilometre and up to 25 cents i this spac
~ the tenth kilometre , for every 400 metre or part thereof
T B 30 cents
After the. tenth kilometre for every 300 metre of part thereof

There.is a fee of $3.50 when a person boards the taxi. Peter boarded a taxi
and travelled a distance of 8 km. How much did-he pay for the ride in total?

Ans: $

3. Eason has 3 cards, each with a different whole number printed on it.
When he multiplies 2 numbers at a time, he gets the answers 24, 48, and
72. What is the answer when he multiplies all 3 numbers on the cards

together?

Ans:

3 {Go onto tﬁe next page)



L The table below shows the number of students who visited a bookshop . | Do not write

from Monday to Fnday ina week | in this space
: Monday : Tuesday Wednesday 'ThUrsday ' Fridey
82 .96 60 70 ?

The average number of students who visited the bookshop from Monday to
Friday in that week was 74. How many students visited the bookshop on

Fridav?

Ans:

In the figure below, AEC and BED are straight lines. AB = BC = CD.
£LBAC is' greater than 30° and ZBEC is an obtuse angle.

R

Each statement below is true, false or not possibie to tell from the
information given. For each statement, put a tick (v) in the correct

column.

C

Statement True False Not possible
to tell
Triangle BCD is an equilateral
triangle.
£BAC = £CDB

(Go on to the next page)



o available is shown in brackets [ ]at the end of each question or part-question.

For Questions 6 to 17, show your working clearly in the space provided foreach | Do not writ
~.question and write your answers in the spaces provided. The number of marks | in this spac

For questcons which require umts. give your answers in the units stated.

All dtagrams in this paper are not drawn fo scale unless stated otherwise.
{45 marks)

. 2
6. Mdm Rani baked some cookies and puffs. = of what she had baked were

- 3 : 1
cookies. Z of the cookies and P of the puffs were sold. If the total humber of

cookies and puffs left was 64, how many cookies and puffs did she bake
altogether?

Ans. [3]

5 : (Go on to the next page)



7. TnangleABstan equilateral triangle. AE and BD are straight lines. Do not write
Find ZAFB. ' ' : in this space
‘ C

Ans: , {31

6 {Go on to the next page)



. | Liing has 200 pencils and Sharon has some pens. After Sharon has given
j52 pens to Lﬁmg, theratio of the nuimber of pencils and pens Lmng has to the
number of pens SHaron hasis4: 1.

(@) . What was the total number of pens and pencils Liling had in the end?

(by  What was the total number of pens and pencils Liling and Sharon
had?

Ans: (a) , [1]
(b) - (3]

Do not write

in this spac

Joel has a bag of sugar, a bag of flour and a bag of milk powder. He weighs
only 2 bags at a time. The total mass of the sugar and flour is 6.7 kg. The
total mass of the flour and milk powder is 6 kg. The total mass of the sugar
and milk powder is 340 g. What is the total mass of the bags of sugar, flour
and milk powder in kilograms?

Ans: ' ‘ {3l

7 {Go on to the next page)



10 The f igure below shows a rectangle ABCD BC is 16 cm and XY is 4 cm. | Do not write
~AY, BY, CY and DY are sttalght lines. The area of triangle CDY is 18 cm2. | in this space
The area of tnang!e ABY is 78 cm. Find the area of the shaded triangle ACY.
A — — BA
16 cm
4cm
x| 27em )
Y
D cv
Ans: s | {3]

8 (Go on to the next page)



_ | Do not writs
S A rectangular tank measured 35 em by 20 cm by 40 cm was f lled with water. | in this spac
"‘Al! the water was then poured into some cups. Each cup had a capacity of
 400mé.
(a) What was the volume of the water in the fank?
()  How many of such cups were filled completely?
400 mé
Tank . Cup
Ans: (a) | 2]
(b} S |

o} (Go on.to the next page)



A box of: cookles cost $3. A free box of cookies was given for every | Do not write

purchase of 3 boxes of cookies. Don spent $240 buymg some boxes of | in this space
cookies. ‘

(a) ‘How many boxes of cookies did Don buy?

()  There were 12 cookies in each box. Don opened all the boxes and

repacked the cookies into containers. There were 9 cookies in each
container. How many containers did he use to pack all the cookies?

Ans: (a)

(b)

(21

[2]

10

(Go on to the next page)



- 13 Mlnah bought some books atan average price of $22 each. Then she bought | Do not write
another 2 books for $46 each and the average price became $28. How many { in this spac
books did she buy altogether?

Ans: | [4]

11 {Go on to the next page)



14. "Jun Xiang received 4 coins from his mother every day. Each coin was either | Do not write

~a10¢ or.a 50¢ coin. Jun X:ang gave his younger sister two 50¢ coins every 5 in this space
days. - The total value of his coins after 60 days was $96. -
(@)  How many coins did Jun Xiang have in the end?
(b)  How many of the coins in the end were 50¢ coins?
Ans: (a) [3]
(b) (2]

12 {Go on to the next page)



15, The table below shows the prices of some items sold in a bookshop.

Do not wri
: in this spa
 ltem ‘. Price ($) .
Calculator $21
Protractor $0.40
Coloured pen (one box) $16
Highlighters ’
~  g J . $10.20
(1 set of 6 pieces) :

There was a storewide discount of 10% on all items in the bookshop. Weiming
bcughtfa calculator, 3 protractors and 2 sets of highlighters.

(@)  Whatwas the total price of the items Weiming had bought after
discount? ’ ' ’

(b) Inclusive of 7% of GST, how much did Weiming pay for the items?
Give your answer correct to the nearest dollar.

Ans: (a) i {21

(b) | 2

13 (Go on to the next page)



46,0 -Alynna sigr}ed,,up.fOr a KT él-monthly mobilevsubs'cr»iption plan as shown | Do not write
oo belows - : . in this spac
| Usage ‘Rate
Outgoing call ﬁrst 100 minutes FREE
Outgoing call gfter first 100 minutes 15 cenfs per minute
Data usage charges for first1GB . FREE
Data .usggg g_hargés a_ftef vﬁrst‘1 GB | $8.50 per GB

(@)

(b)

How much would Alynnahave to pay if she made a total of
238 minutes of outgoing call?

How much data did Alynna use in all if she had to pay $25.50 for
the data charges?

Ans: (a)

(0)

(21

(2

14

{Go on to the next page)



17. Tom worked for a week from Monday to Friday and was paid $7 per hour. He | Do not writ
3 o o : - in this spac
used gof the money he earned and an additional $36 to buy some books. He P

1
- spent > of the remaining money and an additional $20 on some stationery. He

saved the $32 that was left.

(a) How much did he spend on the stationery?

(b) What was the total number of hours he had worked from Monday {o
Friday?

Ans: (a) _ [2]

(b) __Bl

End of paper |
Have you checked your work?

156
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7. Calculate the area of the shaded triangle.

mc_;

Chergt) J

.. H._ Q.:

%93 ﬂ om . ,
() 5om? ﬁTQw@y %XL.P«SK. Bum = dOﬁ?’Y
@ 7em? _ 4
(3 10cm? m 3 b
(4 15cm?
8. 2 litres of frult juice was shared by 16 children. Io<< 3m=< litres of fruit juice ioc_a
each child receive?
_ 2416 = 2
2 +e ¥
@) 4t () v
(4) 8¢

9. . Thediagram um_oi m:oém n_ma_,m.l shapes of rectangles, triangles and circles.
What um_‘omsﬁmm of all these shapes are triangles?

o —

ANO

(1) 20%
@) 50%
(3) 40%°
(4) 680%

2y 10070 = H0%,
(2)

(Go on to the next;page)

10.

1.

i2.

N
Ahmad scored an average of 74 marks for twi two tests. He scored 70 marks in his

first test. How many s did he score in his second test?

- T4X 2= 148
@ . O ue-Fo= Jnnw,\\
@) 74

4 78 . h _\c

Mrs Sim bought a 2. 15 kg bag of sugar. Atthe end of 5 days, she uged cm all tt
sugar., She used an nt of sugar egch day. How much sugar al m:m

use each day? L,
043
(1) 0.43kg [~ wU s
(2) 0.403kg )
(@) 4.03kg ~2 | o
2.0 .
@) 430kg B (1
“\5
0
st
. i (8h)
John attended an 8-hour camp during the school holldays. 3 of the time was 8

on na:..m activities, He mvmaw h on lunch. The rest of the time was spent on

activities. How Scos time was spent on craft activities?

@ tn Ly @h = 4h Qsé

@ i Bh = 4h = Fh = 4h m %h
. <3

6} uw: w\ 7

) mw.s m‘wv

(Go on to the next
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18.

Triangle ABC Is an isosceles triangle. Find the value of £ BAC."

A

Do not write

mAb\fmA.o“_w\Q.o 55_:82.
2Bhe = | =128
= B2
Ans: ﬂ,p S

Ans: )m

(Go on to the next page)

21.

2.

Questions 21 to'30 carry 2 marks each. Show your workings clearly in the space

provided for each question and write your

answers in the spaces provided.| pono

For questions which require nits, give your answers in the units stated. in this

All diagrams In this paper are not drawn to scale unless stated oszsma.

(20 marks

There were two packets of flour on the table. Packet A had 300g more flour
than Packet B, 1.6 kg of flour was transferred from Packet B to Packet A, How
many more kilograms of flour did packet A have than Packet B?

TPW& = ;uooaw
2

1bo0a+ 3009+ 16009

=35009
=3.5¥y

Ans:

w.m ka

Shamini and Mandy had some bookmarks.
each, After that, the number of bookmarks

bookmarks Mandy had was 3 : 1. Mandy had.18 bookmarks Inthe end. How

many bookmarks did Shamin! have at first?
After
S M
3|
| unid=18
3 unts = 8% 3
=54 (S~ arlosy)
5410 = &4,

They bought 10 more bookmarks
that Shamini had fo the number of

|

(Goontothe next
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ZAED= _w%“. mmioﬁ._ﬁ
LY = 80~ 55-55-18"

= @.Q\M\ Ans: - ._w»w\ °

28. W, X, Y and Z are the mid-points of the sides of a square >woc.. The area
of the square Is 64 cm?, what is the area of the shaded triangle?

Bemx Som = bFeam> A Cow Ao

D.
¥ lenagn of squave is €em _ka
: I
T%
c

AP+ AQ = Bmxdem  x 1
o g_ys.o_& =37 s

AR — L xdemy som

: Y.
= WQZP. - .

A

mgﬁ& Qrea — 4 an™- 320n" - Bem” vw#o??

Ans: NE_: cm?

7 . (Go on to the next page)

i G om
Lx12emxi0em = LOcm®
LOw x b = 360 v’
o.ﬁ GlQﬁﬂ.w\h,.wWC} Ans: ,Wva cm?

Bbonx 10 e > 30 o’y (heaofreckmge]

30. Sarah folded a rectangular piece of paper, coloured on one sids, to form
Triangle ABC and Triangle ADE. Find Zx.

B . E
Figure A
v
im = -a’-5%°
= 32°
LA = 90°-32°-32°
- U\m ° .
7
Ans: .MLm A °
End of Woox_o» B
Have you checked your work?
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SCHOOL :

ROSYTH PRIMARY SCHOOL

LEVEL oo PRIMARY 5
'SUBJECT : -MATH
TERM : 2018 SA2
PAPER 2
Q1)
Q2) 8km =8000m

400m—>25 cents
8000m->8000 --400 = 20
20 x25 =500 -

500 cents = $5

$5 + $3.50 = $8.50

1 —-2/7 = 5/7 (Puffs)

Ya x 217 = 1/14 (cookies left)
516 x 5I7 = 25/42 (puffs left)
3/24 + 25/42 = 28/42
28/42->64

Q3) 1stcard 2" card 3 card
12 4 6
24=1x24 48=1x48 - 72=1x72
2x12 2x24 2x36
3x8 3x16 3x24
4x6 4x12 4x18
6x8 6x12
8x9
12x4 x 6 =288
Q4) 74x5=370
82+96 + 60 + 70 =308
370 - 308 = 62
Q5) False
Not
Q6) 2I7 (cookies)




14142564 — 2=32
42142532 x 3 = 96

|Q7)  ZEAB=60° —34° =26°

| « FBA=60° —28° = 32°
32° +26° =58°

. Z AFB=180° —58° =122°

Q8) a)200 + 52 =252 _
b)4u = 252
1u =252 +4=63
5u=63x5=2315

Q9) 5.7 kg =5700g
6kg = 6000g
6000g + 5700g + 340g = 12409
1240g +2 = 60209
6020g = 6.02kg

Q10) Area of 2 the rectangle >78cm2 x 2 = 192 cm2
Area of rectang|e996cm2 x2=192
Breadth of rectangle9192cm2 =6 =12cm
Area of A ABC > 2 x 16cm x 12cm = 96cm2
Area of A ADY- "2 x 16cm x 4cm = 53cm2
Area of shaded A ACY->192cm2 — 96cm2 ~ 32cm2 — 18cm2 = 46cm2

Q11) )35 x 20 x 40 = 28000
28000 -5 = 5600
5600 x 2 = 11200 ml
b)11200 ~<-400 = 28 such cups

Q12) a)240 <3 =80
b)80 +3 =26 2/3
26 x1=26
80 + 26 = 106
106 x 12 = 1272
1272 +9 =141 1/3
141 + 1= 142

Q13) 46-—22=24
24 + 24= 48
28 -22=6
48-6=8

Q14) a)60 x 4 - 240
60 ~5=12
12x2=24
240 - 24 =216
b)216 x 0.50 = 108




108 - 96 = 12
12 +0.40 = 30
216 — 30 = 186

Q15)

a)18.90 +0.36 x 3 = 19.98
9.18x 2 =18.36
19.98 + 18.36 = $38.34

 b)38.34 <100 =0.3834

10.3834 x107 ~ $41

Qie)

a)238 min — 100 min = 138 min
$0.15 x 138 = $20.70
b)$25.50 -$8.50 = 3
1GB + 3 GB = 4GB

Q17)

a)32 + 20 = 52
52+20=72

b)52 x 2 = 104
104 + 36 = 140
140+-2=70
70 x 5 = 350
52+20=72
350 +7 =50
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